AddSub-Neg-L3

Answers

Setl

Question 1 [25 marks]

0:

1:

6: 11+ (=5) =0
" 6—(~3)=9

s 17— (—14) = 31
0. 20 — (—8) = 28

10: 2—9=-7

1: (=13) + (—18) = -31
122 1—(—4) =35

13: 114+ 14 =25

u 14+4=75

15: 20 — 3 = 17

16: 24+3=15

17 (=17) + (—11) = -28
18 (—17) — (=3) = -14
19: 12 — 14 = -2

20: (=6) +2= -4

21: (—19) — (—14) = -5
22: (—1) 4 (—=16) = -17
23 24 (—15) =

o1 (—3) — 18 = -

2% 7T—8= -1
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Question 2
0:

1:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(—8) + (—9) = -17

1545 = 20

(—4) + (~12) = -16

18— 9 =
(—18) + (—11) = -29
(—14) + 2= -12
14 — (=16) = 80
14 — (=20) = 8/
11+ 19 = 30

(—15) —8 = -23
0+17 = 17

13— (—14) = 27

(—6) + (—14) = -20
(—=15) — 5 = -20
15— (=2) = 17
4+19=23

(—18) — 10 = -28
(—=17) — (—14) = -3
17 — (—4) = 21
10-4=6

(—6) — (—19) = 13
15— (—18) = 33
15— (—10) = 25
174+ (—-17) =0
(-9)+18=9
(—14) +8= -6
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AddSub-Neg-L3 Answers Set1
Question 3  [25 marks] Question 4  [25 marks]

0 (=8) — (—9) =1 0 (~18)+3 =15

L1+ (—8) = -7 1 10— (—17) = 27

2 3T = -4 2 194+ 10 = 29

5 114+ 14 = 25 5 (—16) — (—11) = -5

4 (=3)+(=3)=-0 4 (=3)=2=>-5

5 (—1) + (=13) = -1/ 5 (—1) — 20 = -21

6 (—8) — 17 = -25 6 20 — (—18) = 38

7 (—6) — 12 = -18 n0—8=-8

8 174 (—18) = -1 8: 104+ 17 = 27

9: 1 —(—20) = 21 9: (—18) — (—10) =

10: 949 =18 10: (—15)+18= 3

11: 3—9=-6 1: (=17) + (—11) = -28

1219+ 17 = 36 1219 — (=2) = 21

13 9+ (—=5) = 4 13 (—19) — 14 = -33

14 (=3)—6=-9 14: 64 (—4) =2

15 14— (—=2) = 16 15: 0+9=

160 10 — (—1) = 11 16: (—19) + (—12) = -51

17 (—18) =3 = -21 i (—13)+9 = -4

18 04+ (—8) = -8 18 17411 = 28

190 2 — (—12) = 14 19: (—6) +19 = 13

20 (=18) = (—14) = -4 20: (=7) = (=3) = -4

2. (=7) + (~15) = -22 21 (=7)+16 = 9

22: (—6) +3 = -3 2. 1+4=195

2 9 — (—18) = 27 2 17-12=5

2 17— (=7) = 24 2 (—12) — 8 = -20

25: 13 — (—18) = 31 25 (—1) + (—14) = -15
addorsub_-20t020_-20t020 addorsub_-20t020_-20t020
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AddSub-Neg-L3 Answers Set1
Question 5 [25 marks] Question 6 [25 marks]

0 6+ (—12) = -6 0 14— 20 = -6

1618 =-12 1 (—18) — 0= -18

2 (—20) — 20 = -40 2 T+ (—10) = -3

3 44+16= 20 3 (—8)4+7=-1

& (—11) +10 = -1 £ 8—(-1)=9

5 (—13) — 14 = -27 5 1040 = 10

6: 164+1= 17 6: 144+0= 14

7. (—19) — 2 = -21 7 (—19) —4 = -23

s (—16) — 15 = -31 s (—15) — (—14) = -1

9: 4 — (—20) = 24 9. (=3)—12=-15

0: 1 —(—14) =15 10: 12 —-14=-2

11+ (—19) = -18 1 (—10) — (=3) = -7

12: (—=6) + (=7) = -13 122 14+6=7

13: (—=8) —b=-13 13: 14+ (—1) =13

14: 9—14=-5 14: 12— (—11) = 23

15: 16 —9=7 15: 16 + (—3) = 13

16 10+ (=1) = 9 16 (—8) +20 = 12

17 (—11) + (=9) = -20 1 18 —4 =14

18 14+3=4 18: 18 =8 = 10

19: 54 (—18) = -13 19: (—=6) + (—6) = -12

20 (—9) + (—5) = -14 20: (—18) — 18 = -36

21: 8 — 19 = -11 21: (—14) — (=5) = -9

22: 20— 7= 13 22: (=3)+15= 12

23: 6+ 19 = 25 23 18+ (—13) =45

24: (—19) + (—18) = -37 24: (—12) — (—=18) =06

25: 4420 = 24 25: 5 — 17 =-12
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AddSub-Neg-L3 Answers Set1
Question 7 [25 marks] Question 8 [25 marks]

0 (—4) — (—19) = 15 0 18— 1=17

L1l - 16= -5 L0+ (=9) = -9

2 8+ 4= 12 2 (—15) — (=9) = -6

5 20 — (—2) = 22 5 20— (=7) = 27

& 17— (—9) = 26 & (—12) +5=-7

5 19 — (—16) = 95 5 174 (—19) = -2

6 11—-8 =3 65— (=7) = 12

7 (—16) — (=12) = - 7 (—16) + (—4) = -20

g (—8) —(—6) = -2 8 (—9)+(=8) = -17

o: 11— (—19) = 30 0. 20 — (—14) = 3

w0: (—16)+1=-15 10: 4—(—11) = 15

1 (—17) — 19 = -36 1 (=3) — 11 = -1

12 (—6)+12=6 12 6414 = 20

13 6+ (—12) = -6 15 (=7)—8=-15

1w 8+ (—12) = -4 14 (—6) — (—6) = 0

15 (=9)—10=-19 15: (—16) + 17 = 1

16: (—13) —7=-20 16: (—b) —8=-13

17: 194 (—=15) = 4 17: (=5) —6=-11

18: (—15) — (—9) = -6 18 (—3)—11=-14

19 24+ 11 = 13 19: 15+ (—13) = 2

20: 3—12=-9 200 6 —1=195

21 13 — (=5) = 18 21 9 — (—15) = 24

22: T+ (—13) = -6 22: (—19) — (—1) = -18

23 11 — (—6) = 17 23: (—5)+2=-3

24 (—11) —1=-12 24: 1 — (—20) = 21

25 19 — (—10) = 29 25 18+ (—14) = 4
addorsub_-20t020--20t020 addorsub_-20t020--20t020
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AddSub-Neg-L3 Answers Set1
Question 9  [25 marks] Question 10 |25 marks]

0 (—3) +18 =15 0 3-0=3

L (=7)+8=1 1 (—=16) +6 = -10

22 10—-15=-5 2 74+3 =10

3 3+14 =17 3 114+7=18

L1341 = 14 518 —8= 10

50 4419 = 23 524 (—9) = -7

6 5— (—20) = 25 6 15— (—5) = 20

7212 =-10 7 (—15) + (—19) = -3/

s (—6) —3=-9 s (—13)+10 = -3

9: (=6) —4=-10 9 (—12) 4+ (1) =-13

10: 8 =16 = -8 10: 5+ 15 = 20

11: 10-9=1 1: (—20)+5=-15

12 5+ (—20) = -15 122 (=2)—=7=-9

13: (—13) + (=7) = -20 13: 6 —-5=1

4 (=6)+1=-5 14: 3+ 1=/

15: 6 —(=7)=13 15: (—6) + (—11) = -17

16: (—19) — 11 = -30 16: (—8) — (—17) =

17 (—20) — (—19) = -1 17: (—6) — 13 = -19

18: (—16) — (—19) = 18 (=2)+ (—11) = -13

19 (=2) — (~9) =7 19: 20 +2 = 22

20 (—2) —15=-17 20: (=2)+9=7

21: 0+ (—8) = -8 21: (—18) 4+ 15 = -3

222 18 =9 =9 222 6 —4 =2

23: (—18) —4 = -22 23: 2+ (—4) = -2

24: 14 (—16) = -15 24: 20— 17 =3

25 16 + (—18) = -2 2 (—10) + (—4) = -1/
addorsub_-20t020--20t020 addorsub_-20t020--20t020
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AddSub-Neg-L3 Answers Set1
Question 11 |25 marks] Question 12 [25 marks]
o: (—9)+15=6 0: (—20) —2=-22
17+ (—13) = 4 116 — (—12) = 28
2 (=3)—12=-15 2 (=3)+1=-2
3 (—11)+ 15 = 4 3 54 (-3)=2
& 20+ (—19) = 1 & 13+ (—18) = -5
5 (—17)+3 = -1 5. (—18) + (—20) = -38
6: (—11) + (-3) = -14 6: (—2)—(-2)=0
7 (=9)+(-2)=-11 7 0+ (=8)=-8
8 (=3)+ (—14) = -17 g (—11) — (=16) =5
9 174+ (-8) =9 9. 2—15=-13
10: (—10) — (=15) = 10: (—11) + (—12) = -23
11 (=3) + (—4) = -7 1 (=5) +11=6
1215+ (—18) = -3 1219 — (—1) = 20
13 (—16) — (—14) = -2 130 (—19) + (—15) = -84
14: (=5) —3=-8 14: 8 —13=-5
15 4+ (—12) = -8 15 7 — (—13) = 20
160 (—17) + (1) = -18 16: (—16) + 11 = -5
17 1248 = 20 1 b —(—11) = 16
18 14 — (—4) = 18 18 (—1) +18 = 17
19: 2 — (—15) = 17 19: 17—-1=16
200 (=7)—18=-25 20: (—12) +13 =
21 946 = 15 21 (—19) +18 = -1
22: 18 —9=9 22: (—2) — (—8) =
23 (—16) + 10 = -6 23 (—3) —5= -8
2 8+ (—9) = -1 2 18+ 15 = 39
25: (—7) —17=-24 25: 2 — 3 = -1
addorsub_-20t020--20t020 addorsub_-20t020--20t020
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AddSub-Neg-L3 Answers Set1
Question 13 |25 marks] Question 14 |25 marks]

0 (—15) +8 — 10 = -17 0 (—11) + 19+ (=2) = 6

110+ (—18) = (=3) = -5 1 (—10) — 2+ (=5) = -17

23— (=17)—0= 20 2 (—4) +8+ (~12) = -8

3 (—2)+3+8=9 3 (—18) —6— (—8) = -16

1 64 (—15) — (—6) = -3 £ 1216+ (—11) = -15

5 14 — (—4) + (=5) = 13 5 12+ (=3) — (—20) = 29

6 12— 44 (—11) = -3 6 (—15) — (=8) + 2= -5

7 1—24(=9)=-10 7. 6—(—19)—19 =6

8 20+ 11+ (~2) = 29 5 (—12)+2— (=12) = 2

o (—8) + 10415 = 17 9: (—10) + (—16) + (~19) = 45

10: 5+ (=10) — (=6) = 1 10: 164 (=3) + (~18) = -5

1 (—4) 40— (—17) = 13 16— (—18) + (—2) = 22

12 (—1) — (=20) — (—13) = 32 1215 — (=7) + (=7) = 15

13 (—10) + (=20) + (=3) = - 132 — 16 — (—16) = 2

11 (—18) + (=3) + (=13) = -3/ 1 64+5—14=-3

15 (—8) +19 + (~15) = - 15 (=7) = 13+ (—11) = -31

16 (—1) =5 — 14 =-20 16 (—18) + (—15) — (—8) = -25

17 T4 (=12) — 9 = -1 17 18— (~1) =10 = 9

1820 4+ (—10) + (—2) = 8 18 (=17) =5 — (=17) = -5

19: 94+ 94 (—16) = 2 19: 6 — 144 (=9) = -17

20: (—10) — 16 — (—3) = -23 20 (=2) =13+ 7= -8

21 (=7) =0+ 17 = 10 21 17+ (—13) + (—12) = -8

20: 64317 = -8 22 (—14) — (=1) + (~15) = -28

25 11+ 8+ (—17) = 2 23 (—20) + (—2) + 19 = -3

21 17420 — (=11) = 48 21 20 — (—16) + (—17) = 19

25: (—11) — 11 4 (—18) = -40 25: (=5) — (=17) + (=13) = -1
addorsub 201020201020 201020 addorsub_-201020.-201020.-20t030
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AddSub-Neg-L3

Answers

Setl

Question 15

0: 20+ (—8) —3=9

25 marks]

1 (=16)+3+8=-5

2 (—15)+1+10= -4

3 15+8+4(—4) =19

4 6—13—(-10) = 3

5 (—12)+0+12=0

6 9—(—16) — 7= 18

7. (-1)-2-0=-8

s (—11) — 12+ (—19) = -42

9 17— (—=6)—9= 1/

10: (—14) — (=5) —9 = -18

1 134+ 124+0= 25

12: (=5) — (—=19) + (—=14) = 0

13 10— 114+6=5

14: (=2) — (=1) + (=15) = -16

15 (

16 (
(
1

—2)
—9)+5—19 = -23
—2)

+(=20) — 1 = -23
17 (=19) — (=14) — (-14) = 9
19: (=9) — (=12) + (=8) = -5
20 10 — 14 (—16) = -7

21: 5— (—=5) +20= 30

2 1+ 7—(=7)= 15

23 15+ (—4) + (—14) = -3
21: (—=9) + 13+ (—6) = -2

25: 249+ (=3) =8

addorsub_-20to20_-20t020--20to20

Question 16

0:

1:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(—8) — 18 — 17 = -43

16 — (=5) +7 = 28

1445410 = 29

0+19—5= 14

24 (—11) — 16 = -25

(=6) = (=7) = (=20) = 21
(—18) — (~14)+9=5

(—11) + (—13) + (=3) = -27
20 — (~1) + 18 = 39
6—10— 14 = -18

14 — (=5) — (—4) = 23

(—6) —7+10=-3
0—(~11)+ 19 = 30
7-2-(-10) = 15
9—(~2)+9=20

21+ (~10) = -9
4-20—10=-26

addorsub_-20to20_-20t020--20to20
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AddSub-Neg-L3 Answers Set1
Question 17 |25 marks] Question 18 [25 marks]

0: (—9) + (—19) — 16 = -44 0 (—1) =8 — (=7) = -2

L 2-20-2=-20 117+ 2+ (=20) = -1

2 14+ (—1)+11 = 2 2 T4 (—15) — (—17) = 9

5 (—4) — 5 — 14 = -23 5 (—19) — 17 — (=9) = -27

£ 12— (—4) — 18 = -2 £ T (—13) + (=18) = 2

5 8412419 = 39 5 8412 — (—13) = 33

6 12— (—11) — 6= 17 6 1545 (—17) = 37

7. 20+7—-18=9 7 17T+13—-4= 26

s (—17) + 18 419 = 20 s 174 (-1)—14=2

o (=2) =T —(=7) = -2 0. (—14) + (=17) + 5 = -26

10: (=14)+ (-1)+10= -5 10: (—=5)+18+4+(—10) =3

1 (—10) + (—18) — 12 = 40 1 (—17) + (=17) — 9 = -43

1222—4+11=19 122 13 —4 —(—12) = 21

30— 18— 2=-20 13 16 + (—6) — (=8) = 18

1420 — (—16) — 12 = 24 14 (=5) — (—2) — 19 = -22

15 (—15) 4+ 16 — 11 = -10 15 (—16) — (=3) + (—8) = -21

16: 134 (—17) 4+ (—14) = -18 16: 11 — (—13) — 20 = 4

1 (=17) — (=17) + (—14) = -14 17: 65— (—18) + (—6) = 17

18 (=5) +2+ 14 = 11 18 15 — (—18) + (—9) = 2/

19 34 (—2) + 14 = 15 19: 2+ 14+ 15 = 31

20: (—=3) + 13+ (—17) = -7 200 2+ (—13) + (—7) = -18

o (—4) — 94 14 =1 21 T— (—9) — 0= 16

22 (—11) +7— 6= -10 2. 14 (—10) + (—10) = -19

23 10 + (—18) + (—15) = -29 23 (—8) + 10— 14 = -12

2 143 —4=0 21 (—16) + 16 + 16 = 16

25: 5 — (—12) + (—3) = 14 25: (—17) + (—17) = 7 = -41
addorsub_-20t020_-20t020_-20t020 addorsub_-20t020_-20t020_-20t020
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AddSub-Neg-L3

Answers

Setl

Question 19 |25 marks]
0. 15+ (—13) +19 = 21
1 12-2—14 = -
2 (—6) + (—3) — (—8) = -1
5 (—16) + (—10) = -44
£ 3419 — (=5) = 27

(~18) +

5 13—1—11=1
6: 17+6— (—9) = 32

7 64+ (—6)+15= 15

s (=7)—4+12=1

9 1+1—(=17) =

10: (—4) —(=3)+12= 11
1 (—6) — (~2) — 20 = -2/
12 14+ (—10) — (—17) = 21
13 (—19) — (=19) — (=17) = 17
14: (—19) — (—=16) — 11 = -1
15: 20 + (—14) + (=7) =

16: 124 (=5) + (—17) = -10
17: (—6) — 8 + (—16) = -30
180 5 — (=5) + (—20) = -10

19: 5+ 124 (-20) = -3

20 (—14) +20+10= 10
21: 144+8—-15=7

222 2—13+10 = -1

23: 17—12—-1=4

24: T4 (—11) — (-2) = -2
25: (—3) — 3+ (—15) = -21

addorsub_-20to20_-20t020--20to20

Question 20

0:

1:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(=5) — 13417 =-1

8+ (—17) 4 (—13) = -22
18—16+7=9

(—6) + 184 (—13) = -
(—=16) + (=2) + 10 = -8
16 + 10 — (—15) = 41
124 (—6) —
4=y
(=7)+1—16 = -22

(—11) = 17
17+ (-9)

(—13) + 13+ (—4) = -4
11— (—12)+1= 24
(=6) + (-
(—15) = (=
(—2)+0—1=-3

1) +16 =9
15) — 7= -7

6—3—(—16) = 19
18 — (—1) +3 = 22
14 — (—16) +0 = 30
(—11) +
15+ 16 + (—13) = 18

(—12) +0 = -23

7—(=3)+3=13

12—-6+2=268

addorsub_-20to20_-20t020--20to20
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AddSub-Neg-L3

Answers

Setl

Question 21

0: (—9)
1 10— 19 — (—13) = 4

25 marks]

—6—-0=-15

2 16 — (—15) + 8 = 39
5 20— 18— (=5) = 7
& (1) +14+6 =9
5 19+ (—3)—8=48

6: (—=7)—
7 15— 15— (-1

(—20) 4 14 = 27
1) = 11
15) + 8 — (—17) = 10
1)+18—4= 13

15) — (-

4)+ (-1
122 10414 — (—19) =

(—
(=
0: (— D+ (-1)=-15
1 (— 6) + (—2) = -22
48
13 (=7) = (=9)+15= 17
14: (=2) =5+ (—=6) = -13
15 6+20+ (=7) = 19
16: 124 (—=11) 4 (=8) = -7
17 (=15) +3 4+ (—6) = -18
18: 12420 — (—4) = 36
19: 9+ (—16) + (—-10) = -17
20: (—8) —4— (—13) =
o1 (—1)+5—(=8) = 12
2: 13-5-0= 8§
23: 10+ (—=10) — (=13) = 13
2: 18+ (=17) + (—17) = -16
25: (—9) — 10+ (—1) = -20

addorsub_-20to20_-20t020--20to20

Question 22

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|

(—13) + 14 4 (—18) = -17

(=5)—7—(-3)=-9
4 —(=3)—(—=14) = 21
(—18) + (—6) + 20 = -4

12—-14—4=-6
(—13) + 8+ (=11) = -16
18 — (—14) + 18 = 50
(—4) +
(=9) = (=1) + (=16) = -24
19 — 6 — (—4) = 17

(=5) -
19—4+3=18

(—12) — (—19) = -27

(—12) = (=17) = 24
(=5)+10+4=9

(—9) -
134 (=2) —

(—13) +10 = 14
(—17) = 28

(—15)+5+15= 5

(—6) + (—17) — 19 = -42
104174 (=3) = 24
(—1)+ (=2) — 15 = -18
(—14) + (—10) — (-12) = -12
(—12)+4—(-1) = -7

(—19) + 15 + (—16) = -20
(—13) + 11+ 19 = 17

144 (—10) = (=5) = 9

4+ (—16) +16 = 4
4—6—(-4)=2

addorsub_-20to20_-20t020--20to20
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AddSub-Neg-L3 Answers Set1
Question 23 |25 marks] Question 24 |25 marks]
0: 64 (—10) — 0+ (—18) = -22 0: (=3) + (=7) — (=5) — 13 = -18
1 (—16) + 10+ (=7) + 14 = 1 L(—14) +4+8—13=-15
213 -9+ (=8)— (-9 =5 2 14 —9— 14— (=13) = 4
5 (—6) — 7+ (—6) — 18 = -37 5 10+ (=2) + (—15) — (=5) = -2
£ 18— (=2)+ (-11)—1=8 2 (—12) = (=3) + (=13) +2 = -20
5184+ 11— 0+ 14 = 43 5 (—8) — 10 4 (=5) — 17 = -40
6: (—12) + 3+ (—15) + (—15) = -39 6 (—19) + 6+ (=11) — (—13) = -11
710 - 1441+ (=2)=-5 7 (—19) — 17+ (=3) — (—17) = -22
g (—19) — 3+ (—4) + (—18) = -44 g 11 —17—11—(—19) = 2
9: (—18) — 0 — 34 (—12) = -33 0. (—1)+ (—=6) — 1 — (=15) = 7
10: (—4) + (=16) — 18 4 16 = -22 10: (=10) + (=7) + (=2) — (=9) = -10
13— 9+ (—16) — (=15) = -7 1 (=15) — (=12) =0 — (—=11) = 8
122 110 — (—=13) — (=9) = 13 12 (—15) — 17 — (=6) + (—3) = -29
13 16+ (—16) — (=12) + (=3) = 9 13 (—10) + (=9) — 19 — (=7) = -81
19— 114 (=1) — (=11) = 8 1 (=5)+12—14+6 = -1
15 5— (1) + (=19) + 13 = 0 15 (—10) + (=3) + 19+ 17 = 23
16 (—2) + (—20) + 13 — 18 = -27 16 (—12) — 10 + (—=11) + 16 = -17
17: 7+ 104+0+1= 18 17 (—1) =12+ (—1) + (—11) = -25
18 (—6) —5+20 — (—18) = 27 18 (—17) + (=3) + (=2) + 2= -20
19: (=5) — 7+ (=3) + (~13) = -28 19: (=7) +1—(=2) + (—14) = -18
20: (—6) + 13 — (=10) + (=3) = 14 20: 0 — 8 — (—13) + (=3) = 2
21 (—12) +9— 12 — (=13) = -2 21: 16 — (=7) — (=7) + (—6) = 24
2. 10 —1 - 19420 = 10 2. 9 — (=5) + 18 + (—10) = 22
23 9 — 1+ (—=9) — 13 = -1/ 23 34 (—12) — 16 +9 = -16
24: 124 (—19) + (=1) — 3 = -11 21 (—19) — (=9) — (—14) — (—14) = 18
25 (—13) + (=10) 4 (=5) + (=14) = -42 25 9— (—=18) — 15— 9 = 3
addorsub_-20t020_-20t020.-20t020.- 201020 addorsub-20t020.-20t020.- 20020201020
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Answers

Setl

Question 25 |25 marks]

0: 9—(—16) +(—6)+0=19

10 (=12) + (=16) — (=5) + 1 = -22

2 (—11)=5+1+16=1

39— (=17) — 20 + (—17) = -11

416 — (—11) + (—20) + 18 = 25

5. (—=16) — (=2) + (—11) + (—8) = -33
6: 194 (—=15) 4+ (—=6) — (—17) = 15

7 1—-3-16+ (—19) = -87

s 1+34+(-9)—0=-5

9 (=3)4+9+ (-2)+16= 20

(=7) = (=10) +
11: 16 — (=6) + (—10) + (—18) = -6

10: (—19) + (=b) = -21
122 5 —8 — (—6) — (—=11) = 14

13 (=19) — (-2) — 14— 2= -33

14: 10 — (=8) + (—19) — 20 = -21

150 6+ (—11) — 13+ (—15) = -39

16: (—8)—(—4)+4—-6=-6

i (=19) + 174+ (-19) + 14 = -7

18 (—9) —4 — (—4) — 14 = -23

19: 114 (—6) — 2+ 20 = 23

20: (—17) + (=15) — 14 — (=16) = -30
21: 114 (—=14)+ (=7)+12= 2

22: (=7)—12+114+1=-7

23 18+16+4—1= 37

20 12 — (—14) — (—4) +4 = 34

25: 94 (—11) —6—6=-14

addorsub_-20t020--20t020--20to20_-20t020

Question 26

0:

1:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(=13) — 14 — (=12) — (=8) = -7
(=1) = (=5)+0—11=-7

54+ (=16)+1—15=-25
(=20)+2+42—(-14) = -2
(—4) — 0420 — (—16) = 32
(=12) — (=10) + 8 — 18 = -12
0—(=19)+19 — (=1) = 39
3+1240+2= 17

(=11) + 12+ 19 — (—6) = 26
1+18+15+11= 55

18 — (—14) — 10+ 18 = 40
(=13) — (—=18) + 4+ 16 = 25
17+6+5—1=27

(=6) — (=13) + 16 — (1) = 24
44+9-15-1=-3

11+ (=9)+ 11— (=3) = 16
(=3) +11+20+(—2) = 26
(—=11) + (=3) + (=8) =9 = -51
17 -7+ (=10) — 15 = -15
17—15—(=11) = (=2) = 15
(—=19) + 11415 — (=13) = 20
3+34+(-19)+15=2
14+4 — (=16) — (=7) = 41
(=9)+16—2— (-8) = 13
(-12) =6 +5— (—14) = 1

14— (-16)+ 15+ 12 = 57

addorsub_-20to20_-20t020_-20to20_-20to20

007
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Answers
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Question 27

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25

17— (=19) = 12— (=1) = 25

marks]

54+14—20—2=-3
(—=16) +13 -2 —12 = -17

(—4) — 20 — (—=18) + (—11) = -17

(—19) + 12 + 13 + (—13) = -7

10 + (—15) — (=10) — (=5) = 10

12 — (=9) — (=5) + (=7) = 19
19+ (—=9) — (—17) + 18 = 45

—(-12) —

(=8) — (=17) = 36

(

(—10) — (—=15) =8+ 1= -2

(—12) + 7 — 18 + (—9) = -32

(—18) — 18 + (—13) + 12 = -37
(-

3) + (=7

12+ 10+ (=7) — (=7) = 22

17+ 18 —4 — (—17) = 48

(—=18) + (—10) + 0 — (—12) = -16

34 16— (—14) — (=2) = 35
T—2+416—6=15
441 (—13)— (—14) = 32

5+ (—11) —4—(—13) = 3
6+ 17 + (—20) + (—18) = -15

(—19)+19+15— 14 = 1

addorsub_-20to20--20t020--20to20--20t020

Question 28

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(—=17) = 154+4+4 (—1) =-29

(=14) = (-5) = (-9)-0=10
13 — (=18) + 9 — (—10) = 50
20

44 (=19) — (=5) = -38

) —
15) — (—=3) — 8 + (—13) = -33
17) + 13+ 16 +8 = 20

5) = (=15) + (=9) = (=3) = 4
6)+2—(—8)—2=2
7)+(=12) +20 — 2 = -1

5) =20+ 15— (—13) = 3
11) + 16 —
9)+(-12) +
(—4) — (—12) +4 = 23
11— (—20) + 18 4 (—14) = 35
(—11) +
0—(=1) =0+ (—4)=-3

(~3)—10=-2

(—13)

(=
(=
(=
(=
(=
(=
(=
(=
(= —8=-42
3—

(—13) — 1 — (—8) = -17

20+ (—18) — 144+ 6 = -6
14 -3+ (—4) —8=-1
8+ 15— 16+ 14 = 21

14419 — (—4) + 0 = 37
(—17) -

(—16) + 0 — (=2) = 1

1+ 13+ (=19) — (=10) = 5
(—2) 454 (—15) 4 (—15) = -27
1413 — (=9) + (1) = 22

12— (—18) =20 — 13 = -3

(=15) 4+ 11 — (=15) + 9 = 20

addorsub_-20to20_-20t020--20to20_-20to20

007
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AddSub-Neg-L3

Answers Setl!

Question 29 |25 marks] Question 30 [25 marks]

0 (—12)+11—9— (=17) =7

0: (—19)+114+18—-6=14

1 (=18) — (=7) — 10 4 (=5) = -26 124 (=8) = (=1) — 17 = -22

2 11+ (—4) — (=20) + 5 = 32

3. (=2) — (—4) + 17— 20 = -1

i (=9) — (=12) — (=10) — (=14) = 27 4 16+ 12+ (-7

5 3+ (—18) + (—6) — 3 = -24

6 12—6+6—(—4) = 16

7. (=3) 4+ (=3) — (—=17) +20 = 31
s (—13) +1— (=18) + 15 = 21
9. 1—(=7) =19+ (=17) = -28
10: 174+ (=3) + (—18) + (—4) = -8
1 247 (=13) +15= 37

122 5—15—(=1) - 15 = -2

13 194+1—(=1)—-17= 4

1: (—17) =8 —0— (—4) = -21
15 3+ (—12) +1—(-16) = 8

16: (—14) =9+ (—14) — 10 = -47
17 13416+ (—9) + 18 = 38

180 9+ (=5) — (—19) + 14 = 37
9: (=7) = (=11)=5+1=10

20: 12 — (—14) — 13 + 15 = 28

o1 (—14) 4+ (—19) — (—14) — 15 =
22: 3 — (—12) — 8 — (—20) = 27
23: 144+ 11— (=5) — 6 = 2/

20: 9+ 10+ (—2) — (—18) = 35
25: (—1) —(=3)+(-2)+5=15

addorsub_-20t020--20t020--20to20--20t020

2 17— 20 + (—15) + 10 = -8
3. (=11) — 8+ (—=8) — 15 = -42
)+2 =23
5: 12 — 20 + (—6) + (—10) = -24
6: (—19) + 15 — (=17) + (—9) = 4
7 14— (=18) = (=9) — (-13) = 54
8 (—20) + 11+ 16 — (—5) = 12
0. 19 — (—12) +4 — 4 = 31
10: 164 (—18) +74+2=7
11 (—14) —2—12-20 = -48
(=

122 10 — (—=14) — (=3) — 9= 18

13 (—13) + 16+ 12— 20 = -5

14 17+ 16 — 6 — (—8) = 35

15 (—12) 4+ (—5) — (—15) — 8 = -10
160 (—2) + 18 4 (—15) + 14 = 15

17 54 (=20) — 124+ (=7) = -34

18 19+ (—11) + 3 + 11 = 22

19: 10 — 12 — (—20) + (=1) = 17

20 (—10) —7—(—-11)+14 =8

-34 21: 8 —11+19—-17= -1

222 3+ 13 —-6+12= 22

23 8+ (—15) — 0 — 19 = -26

24: (—13) — (—=17) =6+ (—1) = -3
25: 6 — (—=7) — (—10) + (—4) = 19

addorsub_-20to20_-20t020--20to20--20to20

007
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AddSub-Neg-L3 Answers Set1
Question 31 |25 marks] Question 32 |25 marks]

0: 13— 18 + 18 — (—13) = 26 0: 6 — (—16) — (—10) — (—14) = 46

1: 12— (—20) + 18 — (—18) = 68 1 17—114(-2) — (—14) = 18

2:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

(—13) +8+ 14+ (—14) = -5
20+44+19 —
(=7) -
204+ (—8) — 20+ (—6) = -14

8= 35
(—6) +9 — (—16) = 24

104+0—18 —13 = -21

T+ (-17)+13+12=15
(—=3) +
(—14)+16 — (—12) +3 = 17

(—16) + (—10) — 16 = -45

13+45+42—(—4)=2/

(~14) = (1) = (-3) + 6 = 4
(=8) + (~1) + (~11) = (~14) = -6
(=20) — (=7) — (~14) =1 =0
12-20+13 -9 = -4

(=15) — (=1) = (—=11) — (=13) = 10

(=3) + (=6) +15—19 = -13

(—12) — (=10) + (=17) + 14 = -5
20— 8— 16— (—6) = 2

18 — (—16) — 0+ 16 = 50
(=2) + 10 — (=12) + (—=20) = 0
19 — (—17) — 0+ 18 = 54
(—15) = (=2) + (-19) —

17+0+20—-4= 33

(~2) = -0

3—6—(—10)+2=9

(=7) —4+15 + (—12) = -8

addorsub_-20to20--20t020--20to20--20t020

2:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

. 0—(—6) —

(—=5) 4 (—13) + 4 4 (—15) = -29
(=5) — (1) +1— (~17) = 14
14 — (—20) — 19 — (—13) = 28
20+ (—11) —19+13 = 3

0+ (—15) + (—16) + (=5) = -36
16 4 (—4) — 16 + (—20) = -24
12—24+0-16= -6

(—15) 4+ 14 — 13 — (=12) = -2

(—9) + 19 = 34

:6—0—(—12)+15= 33

17—14—(-3)—(-2)=8
(—14) - 16+ 12 -3 = -21
8+6+(—15)—14=-15

13-5+9—-13=/4

12+ (=12) + (—19) — 17 = -36

(—=3) = (—=10) — (=18) + 10 = 35
(—=13) + (=7) + (=9) — (-16) = -13
9— (=17) — (—=11) — 14 = 23

(—18) + (—15) + 19+ (—9) = -23
(=15) =2 — (—18) — 5 = -4
(=19) + (—12) 4+ (—6) — (—15) = -22
(=7) +6— (—13) — (=12) = 24
(=12) = (=7) =515 = -25

(—

1)+ (—15) — (=20) — 11 = -7

addorsub_-20to20_-20t020--20to20_-20to20
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